Unit 12, Week 2, Lesson |

 Division using partitioning

Use partitioning to calculate TO = O

hallenge
/B 1 a 9+3=

b 90+3=
5a 10+5=
b 100+5-=
9a 12+4= 10a 32 +8= 11a 24+4= 12a 18 + 3 =
b 1204 = b 320+8= b 240+ 4 = b 180 +3 ==
__ — P
132 25+5= 142 16+8= 152 20:4= 162 40-8=
b 250+5= b 160 + 8= b 200 - 4 = b 400 + 8 =
- Exdmple
Partition each of these numbers to help you P
find the answer to the division calculation. 69+3=(60+9)+3
=20+3
a 88=:2 b 84 +4 c 63=:3 d 48=+2 =23
€ 66+3 f 86+2 g 8:4 h96:3 i 68:2 | 76.4
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